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QUESTION 1

What are two examples of Avaya Orchestrator Services? (Choose two.)
A. Link Status

B. CPU Utilization

C. Virtual Machine Uptime

D. PDUs

Correct Answer: BD

Reference: https://downloads.avaya.com/css/P8/documents/101061680

QUESTION 2

An Avaya Orchestrator administrator has been tasked with getting a copy of the Temperature Values chart for a Server.
When doing this in the past, the administrator has navigated to the Compute Group Dashlet-Host Up-Host IP Address-
Performance Chart. However, the Temperatures Values chart cannot be found.

What is potentially causing this issue?

A. The SNMP credentials for the Server\\'s thermostats subsystems are incorrect.

B. The IP address chosen is of the ESXi host, not the iLO interface.

C. The Host is currently unresponsive.

D. The Temperatures Values are only available for VSP switches and Storage systems.

Correct Answer: C

QUESTION 3
What is the purpose of the VMware Distributed Resource Scheduler (DRS) as used in ACP 42007
A. It enables a utility that balances computing workloads with available resources in a virtualized environment.

B. It enables an operational virtual machine to migrate from one ESXi host to another, which includes its running state
and storage.

C. It provides monitoring of operating system and hardware failures, and also restarts virtual machines on other hosts
within the resource pool.

D. It creates a pool of virtual disk space that can be shared by multiple virtual machines.

Correct Answer: A
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QUESTION 4

Refer to the exhibit.
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Performance Chart Legend
Key | Object Measurement Rollup Units Latest Maximum Minimum Average
= AVAYASMGR 70 POS Tea . Usage " Average " Percent [ 145 248 13 1.594
1 Usage in MHz Average MHz 30 i 16 38.397
AVAYASMGR 7.0 POS Tea... | jgage in MHz Average MHz 151 257 135 156,509
1] Usage In MHz Average MHz 40 78 21 40,844
| JE Usage in MHz Average MHz 38 7 19 38,335 |
K Usage in MHz Average MHz 35 g 2 39,285

Why is the usage measurement of CPU2 (in Purple) shown in the chart highlighted in the table?
A. Because the CPU2 has been nominated as the primary CPU in this Virtual Machine.

B. Because the CPU2 has been highlighted with an active alarm.

C. Because the CPU2 usage is closest to the average usage of all the CPUs.

D. Because the CPU2 has been selected in the table under the chart.

Correct Answer: D

QUESTION 5

Which three examples of hardware equipment redundancy are built into the ACP 42007 (Choose three.)
A. Redundant iLO connections to each HP server.

B. Redundant storage processors in the storage arrays.

C. Redundant hot swap switch CPU modules.

D. Redundant power supplies in all hardware components.

E. Redundant pairs of Power Distribution Units.
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Correct Answer: ACE
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